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Q1 Q2 Q3 Q4 Q5 

2 4 4 2 3 

Q6 Q7 Q8 Q9 Q10 

2 3 1 3 4 

Q11 Q12 Q13 Q14 Q15 

4 4 3 1 1 

 
Q16) 6839020 

Q17) 
1
2
  

Q18) 204587 Q19) 3 : 7 :18 Q20) 3 : 8 

Q21) 26 
Q22) 1

7
24

  
Q23) 480 Q24) 16439 Q25) 135 

Q26) 36 Q27) 138 Q28) 21 Q29) 50 m2 Q30) 112 
 
Paper 2 
Q1) 6 + 3 + 5 = 14 
 630 ÷ 14 = 45 
 45 x 3 = 135 
Q2) 24 x 24 = 576 
 168 x 2 = 336 
 576 – 336 = 240 
 240 ÷ 2 = 120 

Q3) 
1
5
  = 

2
10

  

 4.2 + 0.5 = 4.7 

 12 – 4.7 = 7.3 = 7
3
10

  

Q4) 
2
3
  x 3.6 = 2.4 

 3.6 – 2.4 = 1.2 = 1
1
5
  

Q5) 
1
2
  x 2 x 6 = 6 

 
1
2
  x 2 x 2 = 2 

 
1
2
  x 4 x 4 = 8 

 6 x 4 = 24 
 24 – 6 – 2 – 8 = 8 
 
 



Q6) 50 ÷ 2.50 = 20 
 20 ÷ 5 = 4 
 20 + 4 = 24 
Q7) 22 – 14 = 8 

 
1
2
  x 8 x 32 = 128 

 704 – 128 = 576 
 704 – (128 x 2) = 448 cm2 
Q8) 282 ÷ 3 = 94 
 7 – 3 = 4 
 94 x 4 = 376 
 376 ÷ 2 = 188 
Q9) 60 – 2 = 58 
 56 + 2 = 58 

Q10) 
2
3
  x 1

11
12

 = 1
5

18
  

Q11) 135 – 75 = 60 
 60 ÷ 2 = 30 
 30 X 3 = 90 
 135 – 90 = 45 
Q12) a) 60 cm2 
 b) 9  cm2 
Q13) 36 
Q14) 200 – 58 = 142 
 142 ÷ 5 = 28 R 2 
 28 x 4 = 112 
 112 + 1 = 113 
Q15) (6 x 6) + (10 x 10) + (4 x 4) = 152 
 (0.5 x 6 x 16) + (0.5 x 14 x 10) = 118 
 152 – 118 = 34 cm2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q16) a)  

 
 b) 12 – 5 = 7 
  7 x 4 = 28 
  14 + 28 = 42 
 c) 20 – 12 = 8  8 x 4 = 32 
  32 + 42 = 74   4 x 4 = 16 
  74 + 16 = 90,  Ans: 24 
Q17) 312 – 80 = 232 
 312 x 5 = 1560 
 232 x 3 = 696 
 1560 – 696 = 864 
 25 – 9 = 16 
 864 ÷ 16 = $54 
  


